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 B. Com. (Part II) EXAMINATION, 2021 

(New Course) 

 (Group—III)  

Paper First  

BUSINESS STATISTICS 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- lkaf[;dh dh ifjHkk”kk nhft, rFkk bldh fo’ks”krkvksa dh O;k[;k 

dhft,A 

Define statistics and discuss its characteristics. 
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vFkok 

(Or) 

fuEufyf[kr vk¡dM+ksa ls ek/;] ekf/;dk rFkk cgqyd Kkr dhft, % 

oxkZUrj vkof̀Ÿk 

0—7 

7—14 

14—21 

21—28 

28—35 

35—42 

42—49 

19 

25 

36 

72 

51 

43 

28 

Calculate mean, median and mode from the following data : 

Class-Interval Frequency 

0—7 

7—14 

14—21 

21—28 

28—35 

35—42 

42—49 

19 

25 

36 

72 

51 

43 

28 
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bdkbZ&2 

(UNIT—2) 

2- vifdj.k ekius dh fofHkUu fof/k;ksa dk la{ksi esa o.kZu dhft,A 

Describe briefly the various methods of measuring the 

dispersion. 

vFkok 

(Or) 

fuEufyf[kr vk¡dM+ksa ls prqFkZd fopyu rFkk fo”kerk xq.kkad  

fudkfy, % 

vkdkj vkof̀Ÿk 

4—8 

8—12 

12—16 

16—20 

20—24 

24—28 

28—32 

32—36 

36—40 

6 

10 

18 

30 

15 

12 

10 

6 

2 
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Compute the quartile deviation and coefficient of skewness 

of the following data : 

Size Frequency 

4—8 

8—12 

12—16 

16—20 

20—24 

24—28 

28—32 

32—36 

36—40 

6 

10 

18 

30 

15 

12 

10 

6 

2 

bdkbZ&3 

(UNIT—3) 

3- vkidks 1000 yksxksa dh Å¡pkbZ ,oa otu ds fuEukafdr ifj.kke fn;s 

x;s gSa % 

 otu ¼ikS.M½ Å¡pkbZ ¼bap½ 

ek/; 150 68 

izeki fopyu 20 2.5 

lglEcU/k xq.kkad 0.6 A 
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mi;qZDr vk¡dMksa ls vuqeku yxkb;s % 

¼v½ ,d O;fDr ftldh Å¡pkbZ 5 QhV gS] otu Kkr dhft,A 

¼c½ ,d O;fDr ftldk otu 200 ikS.M gS] Å¡pkbZ Kkr dhft,A 

You are given the following results of height and weights of 

1000 men : 

 Weight (lbs) Height (inch) 

Mean 150 68 

Standard Deviation 20 2.5 

Coefficient of correlation 0.6 .  

Estimate from the above data : 

(a) The weight of a man, who is 5 feet tall. 

(b) The height of a man whose weight is 200 lbs. 

vFkok 

(Or) 

dkyZ fi;lZu ds lglEcU/k xq.kkad dh ifjHkk”kk nhft, rFkk bldh 

lhek,¡ crkb,A blds xq.k&nks”k Hkh fyf[k,A 

Define Karl Pearson’s correlation coefficient and give its 

limitations. Also state its merits and demerits.  
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bdkbZ&4 

(UNIT—4) 

4- le;&mRØkE;rk ijh{k.k vksj rRo&mRØkE;rk ijh{k.k fdUgsa dgrs gSa \ 

crkb, fd fQ’kj dk vkn’kZ lwpdkad fdl izdkj bu ijh{k.kksa dks 

lUrq”V djrk gSA 

What are Time Reversal Test and Factor Reversal Test ? 

State how Fisher’s ideal index number satisfies these tests. 

vFkok 

(Or) 

fuEufyf[kr leadksa ls U;wure oxZ jhfr }kjk nh?kZdkyhu miufr Kkr 

dhft, % 

(i) 2014 dks mn~xe o”kZ ekudj 

(ii) 2018 dks mn~xe o”kZ ekudj 

(iii) 2021 rFkk 2022 ds fy, fcØh dk vuqeku Hkh Kkr dhft, % 

o”kZ fcØh ¼` yk[k½ 

2016 

2017 

2018 

2019 

2020 

100 

120 

110 

140 

180 
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From the data given below, find secular trend by least 

squares method taking : 

(i) 2014 as origin  

(ii) 2018 as origin 

(iii) Also estimate the sales for 2021 and 2022 : 

Year Sales (` in lakh) 

2016 

2017 

2018 

2019 

2020 

100 

120 

110 

140 

180 

bdkbZ&5 

(UNIT—5) 

5- O;kolkf;d iwokZuqeku dk D;k vFkZ gS \ O;kolkf;d iwokZuqeku ds 

egRoiw.kZ fl)kUrksa dk laf{kIr foospu dhft,A 

What is meant by business forecasting ? Discuss briefly the 

important theories of business forecasting. 

vFkok 

(Or) 

¼v½ rk’k ds 4 iŸks fcuk iquLFkkZfir fd;s ckjh&ckjh ls fudkys x;sA 

D;k lEHkkouk gS fd pkjksa iŸks bDds gksaxs \ 

Four cards are drawn without replacement. What is the 

probability that they are aces ? 
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¼c½ ,d ik¡lk nks ckj Qsadk tkrk gSA izFke Qsad esa 6 ds vkus dh 

vkSj nwljh Qsad esa ,d fo”ke la[;k vkus dh izkf;drk Kkr 

dhft,A 

A dice is thrown twice. Find the probability of 

obtaining a ‘6’ in the first trial and an odd number in 

the second trial. 

¼l½ rk’k ds 52 iŸkksa dh ,d xM~Mh esa ls ,d iŸkk ;knf̀PNd 

fudkyk x;kA D;k lEHkkouk gS fd og iŸkk ;k rks dksbZ iku dk 

;k fpM+h dk ;k lŸkk gksxk \ 

A card is drawn at random from a pack of 52 cards. 

What is the probability that it will be a card of heart or 

club or seven ? 
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